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Name PreCalc

Unit 7: Review for Test

NO CALCULATORS!
Complete the formulas below:

sin(A+B)= AR cosR+cosPAe a3 c0s(A+B) = cosAcosBR - Al sin R

sin(A-B)= SinAcosB-cosAsmB ©(A-87 cosAcosRtsinAsiniR
tan(A+8)= TanP FLanB tan (A -B)= tn A-+tan R

| —tanAtaB I'f"&quHMB
Double Angles Half Angles What are the three Pythagorean
1 cosA Identities?
sin 2x = 2sinycosy sin 2A >
1 %llﬁ L X 4= COS?K = l
cos 2 = cos’y - siny cosSEp = = 1_C;SA . I 2 - 2
cos 2x = 2cos’k -1 3: 2 - 1

cos 2x = 1- 2sin?y
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IfsinA=— i, M=A< 3—“, cos B= —E, and B is in quadrant IT, find each of the following:
25 2 5

(you MUST draw trianglesl) J\\
a. tan(A-B) —24 >

324 Yoy— (W . 21+96 _ 17
3 | +(F)(H)TH  T72-2% 4 L.\il\
b. sfn(A+B) 4 R ‘
= (75)X(8)+ (%) (%) =

PN UV P -3
125 2 -2/ Z
c. cos(A-B) 175 ° ’25 5

_ z*i/ >( 3/) ﬂlZS)(q/S)

- _ 4y
i fzs T 25
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d cos 2B

()| = —\ -
2t 75
[— 2(4/5‘) -_—'7
“esint A=
1=(F)* Jm Jrq "z
s 2
~ fcostB= 20 20 Wi{i(ﬁ: IO

e e NP
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Uﬁ[ﬁ

Use the half angle identities to find the exact value of sin ?—; .

:2, -2(7) sin2(3E)- |cas5,21 m

ST ST @—

Simplify and evaluate.

e G =HECRE

Slt\(c' TB Sin I % - JH 005(5-91—‘E> =cos T2

2] rn{ )

- 1—tan [g}rﬂn[ J -EGW\ ("l;_\' j;l;_) t"\“l(-‘?"('w\‘m‘-(
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Simplify:

a.  sinWeotWtanW

—T—
= Sin
cos(A-m) Pt (—’,G\)

=cos Acos T+ SinfAsinTr

2cosA €N+ 5iaA (0)
= —cos A

bis
.t -z
e an[x 3)

- {G" A—‘EM]E - ’f\w;/\'qr_i

sialo
coslo

C.

‘ '(*"‘c\rvd?w\-%

sinA+cotAcos A

9-
s SiaA + casth
s | sianfA
_ SinzHT C()SZH

sinfA
|
sinfA - csch

!fﬁ+m&

Tmfe)
tan*Ot+tanlcetd
fanze + \ :
= 3{C26
d. sir{B+%J -P( G/,)

" saB cos I fcesB s/
= siafA -0 +cos - |

- Ccos
f. tax+l aq=tanx b= |

= (‘QOV\ A+ i)(fqv\zx -‘{‘omx-o-’)

b.

1-sech

h.

1-sec’s

J-sec O
E‘ 5«93( |+5<C.G)
)
) s>
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Prove each Identity:

tanx - cot x 5 3
— = sec"Xx-—csc° X
sinxcosx

Scm&-m - %QS&

Sinx ¢osX 3_"-2’7%

.IG

SIAY X —cOs%x

Sin?xcost x
= SiAX | oy
Sin?x codx Sinlxco $X

© Costx T gk
= d¢ecta- csex

b.

sinZB tan B = tanB - sinB cos B
Sfﬁ _ SiabcosD cosB
CosR | CosB
AR -51a0 cosB
cos(3
: gz:m- COS?B)

)

" tanB- Sin? R
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cosA
1-sin’A

CosA
Cos? A
(
CosA

s« A

= sec A

d. secx - tanx sinx = cos x
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